EARAZROREIERT — 2 N—XBISY —F 20155118128 (K) 8EIMRIE4H

mid)ES PFEBE C2t/\ #5%—#% \ (] 8 \ [EsmEl  — | 4 (%) 15000 &
[A%2) 1 7:1,000,000 @ ~ 27 :300,000 F ~ 37 :180,000 @ ~ 4 #%:120,000 @ ~ 5 # : 100,000 F3
ARG BERE 0 %E | BT (FE) |51 L BE) | ARG | L | S | An | AE | BEE (7R / Bt/ SEAE
. . 4 3 | FHEE 1:87.2 4-4-5-5 |38.6| — 2 490 | TRAREAL (AR4)
1710 7VT7>F 54.0 ol oy | B) mEmis
LI INATA—H— BTz H—F FEisse]

N ——p = 4 3 | ABEX 1:37.9 5-5-4-4 |39.4| — 4 462 | BHEBB (fafE)
]2 JTINVTTT—h 56.0 ®) (4) | @R Ho 1a-FKL—v=a>

R:AFAT—F B:IZXALFh #HET7— L
= . -g8-7-— — Bl
31811 LAR= 3 gﬁ)ﬁﬁ (12318/24> 9-8-7-6 | 39.5 1 (1?13) *Eé;%g!:/gﬂéf).j,ﬁiA
LI NATA—h— BRXH/ 7970~ IVI5TT7— 4
9 o, [0 FRRs . -9-10- = B (fHE
45|51 kLR o4 EE_JO—F (11.318/.27) 8-9-10-9 | 39.5 3 ff) ﬁ%i% (#aH)
WY/ by THY BiFv—LTR)-T S
i 43 | dllfe= 1:38.7 7-7-7-8 | 39.8| — 9 464 | EHE (fahE)
5 4 7)l/l:|:|7'77/t 56.0 (7€) #12) FAIES
LA TPAT B:7O-Uva Eikae
sl g| 74— FaH— Ho6 | R 1(:13/82.)8 2202 [40.6| — | 5 (4+911) iﬁi?— (#34%)
SLov=—F7A- Big—-ThLTv— & -
N .= . I : -3-3- - MR (Rt
ol ol k51 5 | S y%s | ess |0 S I i (S
L:7NHEy b BEZaX ML= TS

S B3 | EEE— 1:39.4 6-6-6-7 | 40.6| — 6 471 | MREA (AR45)
EH 3 7o) a—H%1F 54.0 (1/2) (A) Wﬂsl?—jjl«

RV IATIALK BivO-3 ®20 | 1)1 rasis
9l1!1 /\myj—-‘,f ) ‘. 5 si"i?gﬁ’ﬁ* 1(:3.:3/%6 -1-1-1 | 415 — | 7 422)3 ;ﬁ%g%ﬁéﬂﬁ%)
LIAY YTy BRI —-bLI—F (=]
108l 12| 715+ E"J"r‘y ,\a ) ‘ # 5 Ef%féiﬂ (12:410/.21) 10-10-9-10 | 41.0| — | 10 tgs); gig‘ég (a#n) ‘
LG4 TATv— B:TVT4 X4 HAsit /—ZerX
9|0 Zi:jifﬂ By LT — e %%5 1:(42%.5 AR e I ig? Z;}Eig;ﬁ?w
EH 7|7R93>T747 3 | Bl Jrzo | EEEE | = | 5?73; %ﬁ%i (#18)
L:hT74=Z20 BN ITITIT R e ]
@ 1 —F—EAIE
13=zr= 1,8,9,10,2,3,4,5,11,12,6,7
Ral=5r= 1,8,9,10,2,3,4,11,5,12,6,7
BEE 1,8,9,2,10,3, (4,11),12,5,6,7
43—+ — 1,8,9,2,10,11,3,4,5,12,6,7
[ 7N
-y 10 410 74K 2-10 670H & 2-7 1,560 &8 2-10-11 1,270M
7 B 10 140M 10-11 210 | | # E 7-2 2,710 | | 3&E | 10-2-11 11,860
2 220MH 2-11 400/ B E 2-10 2,510
" 130 BB 10-2 3,540

ABICOVWTRDTEEERROODE. TR LIV,



